ELLHNIKA- GREEK

Ewoayoyn oty avaivoen What-If

Xpnowonowwvtog ta  gpyareio  aviivong What-If oto Excel, pmopeite va
YPNOUOTOGETE TOAAN SLUPOPETIKA GUVOAD TILMV GE vy N TEPIGGOTEPOVS THTOVG
Yo va eEEpELVNGETE OAM Ta. H16.POPa. ATOTELECLLATOL.

Mo mopdaderypa, pmopeite vo kdvete avaivon What-If yio vo dnpovpynoete 600
TPOOTOAOYIGLOVG oL 0 KaBEvag avolapBdvel £va cuyKeKPUEVO emimedo €6OdMV.
Evolloktucd, pmopeite va kobopioete Eva amotédeopo mwov 0élete va mapdyst Evog
TOMOG KO, GTN GLUVEYELW, Vo Kabopicete mowo chvora Twmv Ba mapdyovy avtd TO
arotédeopa. To Excel mapéyet moddd Stapopetikd epyadeia yio va cag fondnoet va
EKTEAEGETE TOV TUTO OVAALGNG TTOV TOPLALEL OTIG AVAYKES GOG.

Emoxkonnon

H avéivon What-If givor n dradikacio aAhoyng Tov TIHdV 6To KEALY Yo VoL OElTE TAOG
VTG 01 aALYES Bl EMNPEAGOVY TO ATOTEAEGIL TOV TOTMOV GTO PUAAO EPYACIAG.

Tpia  €ion  gpyoreiowv  avérlvong  What-If  cvvodevovrar  ond  Tto
Excel: Xevapro, Avaltnon otoyov kot Hivakeg dedopévev. To ceviplo kol ot
nivokeg oedopévav Aapfdavouv chvora TIHOV 10000V Kot kobopilovv mbavd
arotedéopata. ‘Evag mivakag dedopévev Aettovpyet povo pe pio 1 000 petofAnTtéc,
oAAG pmopel va deytel MOALEC SLOPOPETIKEG TIUES Yoo avTEG TIG petaPAntés. Eva
oevaplo pmopel vo €xet moALES PeTAPANTEG, OAAG pmopel va pLAOEEVNGEL LOVO £mg 32
tipés. H Avalnmon otdyov Aettovpyet S10popeTIKd amd To GEVAPLO KO TOVG TIVOKESG
dedopévav, kabmg AapPavet Eva arotérecpa kot kabopilel mbavég Tipég 16660V TOL
TOPAYOLV 0VTO TO OTOTELEGLAL.

Extog and avtd ta tpia epyaieio, pmopeite va eykatactioete npdcbeta mov Oa cog
Bonbnoovv va ektedécete avaivon What-If, 6nwg 1o apdcOeto "Enidlvon".

1. Xevapuo

Evallayn petald oto@opmv cuvorL®V TIHOV HE ypfion
GEVOPLOV

"Eva ogvapro sivar éva oovoro Tiuwv mov amodnkevel to Excel koi pmopet va
OVTIKATOOTNOEL OVTOUATO, 6TO QUAAO gpyaciag cag. Mmopeite va dnpovpyncete Kot



Vo amoONKeEVGETE SLUPOPETIKES OUAOES TILMV MG GEVAPLOL KOIL, GTT] CUVEYELN, VO, KAVETE
EVOALOY HETOEDL OLTOV TV oevapiov Yoo vo TPoPAAeTe To  SLOPOPETIKA
OTOTEAECLLOTAL.

Edv moAAd dtopa £xouv cuYKEKPIUEVES TANPOPOPIEC TOV BEAETE VO PN GILLOTOCETE
o€ oevapia, pmopeite va GVALEEETE TIG TANPOPOpieg o€ Eeywplotd PiPria epyaciog Kat,
OTN GLVEYELN, VO CLYYOVEDGETE TOL GEVAPLO amd T OlpopeTIKA Pipia epyacioc o
éva.

AoV &yete OA0. TO. GEVAPLL TTOV YPELALESTE, WTOPEITE VO ONLOVPYNGETE U0 GUVOTITIKT
avaPopPa GEVOPION TOL EVEOUATMVEL TANPOPOPIES 0md OA TO. GEVAPLAL.

H dwyeipion tov ocevapiov yivetar pe tov "Oonyoé dwayeipiong oevapiov" amd v
oudada Avaivoen What-If otnv kaptélo Agdopéva.

Anuovpyio cevapiov

Ac vroBéoovpe Ot Béhete va dnpovpyNoETE Evav TPOVTOAOYIoUO, OALG Ogv gloTe
BéPator yio To €6000 GOg. XPNOUYOTOUOVTOG GEVAPLO, UTopeite va opicete
SpopeTIKEG TOAVES TYES Yo TOL E5000 KO, GTN GLVEYELN, VO KAVETE EVOALOYT) LETOED
oevaplov yio va ektedéoete avaivoelg what-if.

IMa mapdderypa, ag vwobécovpe 6Tl TO YEPITEPO GEVAPLO TPOVTOAOYIGHOV GOG Eivot
Axabdapiota £coda 50.000 $ ko1 Kootog moinbéviov ayabadv 13.200 $, apnvovrog
36.800 $ og ikt k€PSoG. I'o va 0piceTe 0VTO TO GHVOLO TIUDOV M GEVAPLO, EICAYAYETE
TPOTO. TIS TIEG G€ v QOALO epyaciog, OTmG QaiveTal GTNV TOPAKAT® EKOVAL

A B C D

1

2 |Gross Revenue

3 |Cost of Goods Sold 13,2{]{]_
4 | Gross Profit 36,800 Result cell

Changing cells

Ta kehd AALayn £xovv TIHEG TOV TANKTPOAOYEiTE, VA TO KEAL ATOTEAEG O TTEPIEYEL
évay tomo mov Baciletor ota AAAayn KeMOV (og autnv TV £KOVa 10 KEAL B4 €yetl tov
tomo =B2-B3).

211 CLVEXEWN, UTOPEITE VO YPNCLOTOMCETE TO Topabvpo Sahdyov Awayeipion
oevapimv yuo va arodnkedoete avtésg Tig TWES ¢ oevdplo. MetaPeite oty KapTéLa
Agdopéva > Awyeipion cevapiov avarvong > cevapiov What-If > IposOnkn.



E [k

What-If Forecast Group Y
Analysis= Sheet =

Scenario Manager...

Goal Seek...

Data Table...

Scenario Manager ? >

Scenarios:

Mo Scenarios defined, Choose Add to add scenarios.

Merge...

Changing cells:

Comment:

Close

10 mopdOvpo d1aAdyov ‘Ovopa cevapiov, ovopdote to oevdplo Xepdtepn nepintmon
kot KaBopiote 0Tt Ta keAd B2 kot B3 givon ot tipég mov adddlovv petald cevapiov.
Edv emAéletre to AAMayn KeMdV 610 QUALO gpyaciag cag mpwv mpochiécete Eva
oevapio, n Alayeipion cevapiov Oa steaydyet cvTOpATO To KEAA Y10l EGOC, OLOPOPETIKA
UTOPELTE VO TOL TANKTPOAOYNGETE HE TO YEPL N VO YPNCILOTOMCETE TO TapPdBvpo
SAOYOV €MAOYNG KEM®V ota 0eE1d TOL TapaBupov S10AdGY0OLV AALaY KEMAV.



A B C D E
1
2 |Gross Revenue
3 |Costof Goods Sold
B o — - -

4 |Gross Profit 36,800
5 — I I
6 =
7 | Scenario name:

| | Worst Case
8
g | Changing cells:
10 | | B2E3 | |
1 | Ctrl=click cells to select non-adjacent changing cells.
12 | Comment:

| | Worst Case Scenario
13
14
15 | Protection
16 [v] Prevent changes
17 [ ] Hide
18
19

Ynpeioon: [Haporo mov avtd 10 TapadElyo TEPEXEL LOVO 0VO HETOPAAAOUEV KEALYL
(B2 xo1 B3), éva oevdpro pmopel va mepiéyet £og 32 keAld.

Ipootacio — Mnopeite eniong vo TPOGTATEVGETE TOL GEVAPLA GOC, ETOUEVOS GTNV
evomra [lpootacio eAéyEte TIC emA0YEG TOL BEAETE 1) KATOPYNOTE TNV EMAOYT TOVG
edv oev Béhete Kapia mpootacia.

=  EméEre "Amotpom) arhaydv" yio va amotpéyete TV eneepyacio Tov
oevapiov 6tav to POALO epyaciog lval TPOGTATEVUEVO.

= Emé€re Kpo@o yuo vo amoTpEyeTte TV ELPAVIOT TOL GEVAPIOL OTAV TO
@UAAO epyaciog elval TPOOTUTEVEVO.

Inueioon: Avtég ot ETMA0YES IGYVOVV LUOVO Y10 TPOGTOTELUEVO VAN EPYOTTIOG.

Topa ag vroBécovpe 0TL 10 cevdplo mpovimoroyicpov Best Case eivar akabdpiota
¢c0da 150,000 $ kot k66TOG TOANOEVTOV ayabdv 26,000 $, aprvovtag 124,000 $ oe
HIKTO K€POOC. [ va opiceTe 0 TO TO GUVOAO TILAOV MG GEVAPLO, dINovpyeite Eva GALO
oevaplo, to ovopdlete Béhtiom mepintmon kot mopEyete S10QOopETIKES TILES Y1 TO
ke B2 (150.000) ko o kel B3 (26.000). Emedn 1o puktd képdog (keii B4) eivar £voag
TOMOG - M dtapopd peta&d 560wV (B2) kot k6ctoug (B3) - dev adlalete To keAi B4 yia
10 BEATIOTO GEVAPIO.



1
2 |Gross Revenue 50,000y
3 [Cost of Goods Sold 13,2001
4 |Gross Profit 36,800
3 . .
5 —{ Edit Scenario ? >
7 || scenario name:
a || | Best Case
g 1 Changing cells:
10 || B2E3 i
1 || Ctrl=click cells to select non-adjacent changing cells.

-1 Comment:
12 — ;

—{ | Best Case Scenario
13
14
15 || Protection
16 || [] Prevent changes
7 || [ Hide
18
ol

AoV anobnkedoete éva oevaplo, yivetar dStabécio otn Alota cevapiov mov pnopeite
VO (PNOUOTOMGETE OTIG avarvoelg what-1f. Aedopévav Tov TIHOY 6TV TPONYoOUEVN
ewova, eqv emiéEete va eppaviocete 1o oevaplo "Bédtiot nepintwon”, ot Tipég 6to
@OALO gpyaciog Oa aALGEovy doTe va potdlovy pe TNV akoiovdn ekdva:

A B
1
2 |Gross Revenue 150,000
3 :Czst of Goods 5old 26,000
4 |Gross Profit 124,000

2VYYAOVELGT] GEVOPLMV

Mmnopei va vdpyovv Qopéc mov Exete OAEG TIG TANPOPOPiEg 6 Eva PUAAD epyaciog 1
BiBAio epyaciog mov amartovvTal yio T dnpovpyio OAwV TV cevapimv mov BELeTe va
eetdoete. QotO00, pumopet va BEAeTE Vo GLALEEETE TANPOPOPiEg GEVAPIOV OO AALEC
myéc. [a mopddsrypo, ag vmobécovpe 0Tl mpoomabeite vo dNUIOVPYNCETE Evav
npovmoAoyioud etoupeiag. Mropeite va GUAAEEETE GevapLa amd SLOUPOPETIKA TULLOTO,
onwg Ioinoeig, MicBodoaia, [apaywyn, Mdapketvyk kow Nopuwkd 0épata, emedn
K@Oe pio amd aVTE TIG TNYES EXEL SOPOPETIKEG TANPOPOPIES Yia ¥p1ioN oTN dNpovpYio
TOV TPOVTOALOYIGLOV.



Mmropeite va GLYKEVIPMOGETE QLT TOL GEVAPLOL GE VAL QUALO EPYACTAG YPTCULOTOLDVTOG
v  evtoAn oyyovevoen. Kdabe mpoéhevon umopet va mapéyst O6cec N Alyeg
petaPariopeves Tinég keMav Bédete. a mapdderypa, umopel va Béhete kdbe TuqHQ
va Tap€xel TPoPAEYELS damavdV, dALL YpeLdlesTte HOVO TPOPAEYEIC €000V AmO Alyd.

Otav emAéyete ) ovyyovevon, n Awyeipion cevapiov o eoptmdcel évav 0ony6
OVYYOVEVGTG 6EVOPiov, 0 onoiog Ba mapabicel OAa To POALL epyaciog 61O evepyo
BiArio epyaciog, kabmg kot Tuyov dAla PiPria epyaciog mov pumopel va Exete avorytd
exetvn m otrypn]. O odnyodg Ba cag mel mdéoa cevdpla Exete o€ KOs POALO epyaciog
TPOEAEVONG TTOV EMAEYETE.

Merge Scenarias ? *

kerge scenarios from

Book: | Scenarioxlsx Choose a different workbook

W scenation |4

summary

There are 2 scenarios on source sheet,

Cancel

Otav cvAAéyete O10QOPETIKA CeEVAPLOL OO JAPOPEG TPoerevoES, Oa mpémel va
ypnowonoteite v 10w dopr| keMdv e KaOe PiPrio epyaciog. [a mapdderypo, ta
‘Ecoda pmopel mhvta va mnyoivoov oto keAl B2 kot ta 'EEoda pmopel mhvia va
nnyaivouv 6to keM B3. Edv ypnowonoteite dtopopeticés dopég yio ta cevdpla amod
dlapopeg TyEG, umopel va eivor SOGKOAO VoL GUYY®VEVGETE TO OTTOTEAEGLLOLTAL.

Tip: E&etdote 10 evdgyOUEVO VO ONOVPYNGETE TPAOTA EVOL GEVAPLO LOVOL GOG KOLL, GTN
GLVEXELN, VO GTEIAETE GTOVG GLVAOEAPOVG GOG £va avTiypapo Tov PBiAiov epyaciog Tov
TEPEYEL AVTO TO GEVAPLO. AVTO J1EVKOADVEL TN SLUGPAALST] OTL OAQL TOL GEVAPLA Efvar
dounpéva pe tov 1010 tpodmo.

YOVOTTTIKES AVAPOPES GEVUPLOV

IMa va cvuykpivete 01dpopa Gevaplo, UTOPEITE Vo ONUIOVPYNOETE L0l OVOPOPEL TTOV TOL
ouvoyilet oty 1010 oerida. H avapopd pumopel va tapabécet ta cevapila dimAa-oimian
N VO T TOPOVGIAGEL GE L0 VOPOPA ZVYKeVTpwTIKOV [Tivaka.



A B C

ltem  vaue [
2 _Grc:-ss Revenue 150,000
3 |Cost of Goods Sold 26,000
4 |Gross Profit ! 124,[][][]i
2 - Scenario Summary ? x
7 [l Report type
g || (@ Scenario summary
q I O Scenario PivotTable report

|| Result cells:
0 |- —
1l =5B34 FR
2 |

Mo GuVORTIKY avopopd cevapiov Tov Baciletol ata 600 TPONYOVUEVH TOPASELYLOTOL
oevapiov Ba poldletl kdmmg étot:

B - [
Jz] 48 8 | c| ©

1
2l Scenario Summary

m
—
G

—
5|
Ly

fa o
W]

4
-] 5 Changing Cells:

-6 | $BS2 150,000 50000 150,000
| - 7] $BS3 26,000 13,200 26,000
-] 8 | ResultCells:
|- 9 $BS4 124,000 36800 124,000

10 | Notes: Current Values column represents values of changing cells at
1 time Scenario Summary Report was created. Changing cells for each
12 | scenario are highlighted in gray.

Oa mapatnproete 011 10 Excel éxel mpocsbécel avtopata enimeda opadomoineng yo
€06dg, ta. omoia Ba avarTvEovy Kot Ba cvumtuEovy TV TPOPorn KaOBDS KAveTE KAK
GTOVG OLOPOPETIKOVG EMIAOYELS.

210 TEAOG TNG CLVOMTIKNG avapopds speaviCetal (o onpeioon mov eényel 0tL N
omAn Tpéxoveeg TIHES OVTITPOSOTEDEL TIC TIEG TV KEADV TOV 0AAGLOVV TN GTIYUN
oL ONpovVpYNONKe 1 ékbBeomn chvoymg cevapiov Kot OTL Ta KEAL TOL AALAEY Yia KAOE
GEVAPLO EMICTILOIVOVTOL LE YKPL XPDOLLOL.



INUEIDOELS:

= And TPoeTAOYT, 1| GLVOTTIKY] £KOEGT YPNOILOTOLEL AVAPOPES KEALDV Y10,
TOV  TPOGOOPIGHO TV  KeMdV  AAloyn kot Amotédeopo. Edv
ONUoVPYNGETE KOOOPIGUEVES TEPLOYEG Y10 TOL KEMA TPV EKTEAEGETE TN
ouvonTiky] €kBeon, N ékBeon Oa mepi€yel Ta ovouaTa AVTi Y10 AVOPOPES
KEALDV.

= O avagopéc oevapiomv dev voloyilovy ek véov avtopata. Eqv aAldEete
TIG TIWEG evOg oevapiov, avtég ol aAlayég oev Ba eppavifovtol og puo
VILAPYOVCA GLVOTTIKY £kBgom, aALG Ba eppavifoviot dv dnpovpynocete
Hio vEo GUVOTTIKY| £kOEoT).

= Agev ypetdleote KEMA AMOTEAEGUATMV Y10, VO, ONUIOVPYNCETE L0l OVOLPOPEL
oVuVoYNG GEVaPIon, aAAG To YPELALESTE Y10 O OVOLPOPH LVYKEVIPOTIKOD
[Tivaxa cevapiov.

Scenario Summary

Current Values: Worst Case

Changing Cells:

Gross_Revenue T e 000
Mamed Ranges instead of cell references
Cost_of_Goods_Sold S SE— . 000
Result Cells:
Gross_Profit 124,000 36,800 124,000
A B
$B32:3B33 by (Al -

Best Case 124000

1
2
3 |Row Labels |~ | Gross Profit
4
5 |Worst Case 368

o
O

2. Avalntnon 6toyov

Edv yvopilete 10 anotéleopa mov BEAeTe amd Evav TOmO, aAAG dev elote BEPatol Tola
T €16000V Ypetdletol o THTOG Yo VoL AAPBETE VTO TO AMOTEAEGLO, YPTCLLOTOMOTE
™ dvvatdtta avoltnong otoyov. o mapdoetypa, ag vrofécovpe Ot TPEmMeEL va
daveloteite kamow ypriuota. Eépete mooca ypnpato 0élete, mOco Kapd BéleTe va
nwhpete Yo vo, EEOPANGETE TO OAVELD Kol TOGO UTOPEITE VO OVTEEETE OIKOVOUIKA VL
ninpavete kdbe uva. Mmopeite va ypnoponomoete to Goal Seek yia va kabopicete
7010 EMTOKIO OBa TPEMEL VoL eEAGPAMGETE Y10 VOL ETITVYETE TOV GTOYO TOL dUVEIOL GO,

Edv yvopilete 10 amotéleopa mov BEAeTe amd Evay TOmO, aAAG dev elote BEPatol Tola
T €16000V Ypetdletol o THTOG Yo Vo AAPBETE VTO TO AMOTEAEGLO, YPTOLLOTOMOTE
™ dvvatdtnTa avoltnong otoyov. o mapdoetypa, ag vrobécovue Ot TPEmeL va
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daveloTEITE KOOl ypruata. Zépete moOca ypnpoto 0éAeTe, TOGO Kapod Béhete va
ndpete Yo va eE0QANGETE TO OAVELD KOl TOGO UTOPEITE VO AVTEEETE OIKOVOUIKA VOl
TAnpovete kGbe unva. Mmopeite va ypnoonomoete 1o Goal Seek yia va kabopicete
TO10 EMTOKIO0 B0l TPEMEL VoL EEACPOUAGETE Y10 VAL EMLTOHYETE TOV GTOYO TOL dOVEIOV GO,

Inpeioon: H Avalnmon otéyov Aettovpyel povo pe pion petafAnt tiun €16650v.
Edv 0érete va amodeyteite mepiocoTepeg amd pia TIHEG £10000v. [ Tapdderypa, T060
70 OGO TOV dOVEIOV OGO KOl TO PUNVICi0 OGO TANPOUNG Yo Eva davelo, UTopeite va
YpPNooTomoeTe 10 Tpodcheto Enidvon.

Bina wpog Prypo pe évo mapaostypao,

Ag 00VE TO TPOTYOVUEVO TOPASELY AL, BT TPOS PrLLCL.

Emedn 0élete va vmoloyicete 10 EMTOKIO SAVEIOV TOV AOLTEITOL Y10l TV EMITEVEN TOV
oT1OYO0V GOg, ypnowonoteite ) cvvaptnon PMT. H cuvédptmon PMT vroroyilet éva
unvieio mTocd TANPOUNG. ZE aVTO TO TOPAOELYL, TO UNVIaio ToGH TANPOUNG Elval O
0TOY0G OV EMOIDKETE.

Lpoeroiuaaio tov pvAlov epyaciog

1. Avoi&te éva véo, kevd pOALO epyaciag.
2. llpdto, mpocHBEcte WPeEPIKES ETIKETEG OTNV MPAOTN OTINAN YL Vo
OLEVKOADVETE TNV aVAYVEOGT TOV PUAAOV EpYOGIag.
a. Xto keM Al, minktporoynote [looo daveiov.
b. X10 KeAl A2, mAnktporoynote Opog o€ pives.
c. Xto keM A3, mAnktporoynote Emrokuo.
d. Xto xeM A4, tinktporoynote linpopmy.
3. Z ovvéyela, TpocBiote TIg TIHEG TToL Yvopilete.
a. Xto keAl B1, minktporoynote 100000. Avtd sivor to mocd mOL
0éhete va daveloteite.
b. X210 xeM B2, minktporoynote 180. Avtdg sivar o aplBuodg tov
Unvav mov 0éAhete vo eE0QANGETE TO dAVELO.

c. Xmpueioon: [Mopdio mov yvopilete 10 TOGO TANPOUNG TOV BEAETE, OEV
TO EIGAYETE OC TIUN, ENEWN TO TOGH TANPOUNG EIVOL ATOTELECLLA TOV
Tomov. Avtifeta, uropeite va tpochiécete ToV TUTO GTO POALO Epyaciog
Kot va kofopicete v aflo TAnpoung oe peTayevESTEPO P, otav
xpnoponoleite v Avalntnon otoyov.

4. X ovvéyew, mpocBéote Tov TUMO Yo TOV omoio &yete évav otoyo. o
TOPAOELYLLOL, YPNOLUOTOMOTE TN cvvapTnon PMT:

a. Xto keM B4, minktporoynote =PMT(B3/12;B2;B1). Avtdc o tHmog
vroAoYilel T0 TOGO TANPOUNG. X& 0VTO TO Topdoelyua, 0EAeTe va
mnpodvete 900 § kabe punva. Aev lodyete avTtd T0 TOGO €3G, EMEN
Béhete va ypnowonomoete v Avalntnon otdyov yuo va Kabopicete



10 emtoklo kot . Avoaltnon otoyov amottel vo EeKvioeTe pe Evay
TOTO.

O tomog avaeépetar ota keld B1 kot B2, ta onoia mepiéyovv tipég
mov Kabopicate ota mponyovpeva Puata. O TOTOG avaPEPETOL
emiong oto kel B3, dmov Ba kabopicete 61 10 Goal Seek éBake o
emtoklo. O tomog dwpel v Ty oto B3 pe to 12 emedn
Kabopioate o pnvieio TAnpopq kot 1 ocvvdptmon PMT
avalapPaverl Eva 1610 ETITOKIO.

Emedn oev vmapyet Ty oto kel B3, to Excel vmobétel emroxio
0% wat, YPNOOTOIDVTOS TIG TYLEG TOV TOPAJEYILOTOC, EMGTPEPEL
TANpoun 555,56 $. Mropeite va. ayvonGETE LTHY TNV TIUN TPOGS TO
TopOV.

Xpnowonomore to Goal Seek yia vo, koBopioete t0 emitoxio

1.

e

v Kaptéha Agdopéva, oty opddo Epyaieio doedopévov, kdvie KAK
omv emroyn Avdiven What-If koi, ot ocuvéyeln, Kavie KAIK otnv
gm0y Avalitnon otéyov.

210 mhaicto Opopog KeEMOD, TANKTPOAOYNGTE TNV AVOPOPE Yol TO KEAL
TOV TTEPIEXEL TOV TOTO OV BEAETE VO EMAVGETE. LTO TOPAOELY O, OVTH M
avagopd etvar To kel B4.

Y10 mAaioco Ty wpog, TANKTPOAOYNGTE TO OMOTEAEGHO TOTOVL TOL
Oélete. X100 mapddetypa, avtd givar -900. AdPete vmdyn 0T OWTOG O
ap1Opog eltval apvnTiKOg ETEWN AVTUTPOCSHOTEDEL IO, TATPO LY.

Y10 mAaicto Mg arhayn KeAOU, TANKTPOLOYNGTE TNV OVAPOPA Y10l TO KEAL
OV TTEPIEYXEL TNV TIUT TOL BEAETE VO TPOCAPUOGETE. TO TAPAIELY LA, VTN
N avagopd tvar o kel B3.

Ynpeioon: To keAl mov oAldler m Avalntnon otdéyov mpémer va
avagépeTor  omd Tov  TOmo  tov  KeMov mov  kabopicate o©TO
mAaiclo Opepog Kerov.

Kavte khx oto kovpri OK.
H Avalrtnon otoyov Tpé€yet ko Tapdyel £vo. OmOTEAEGLA, OTMG POIVETOL
TNV TOPUKAT®O EIKOVA.

A B
1 |Loan Amount $100,00
2 Term in Months 180
3 | Interest Rate 7.02%
4 |Payment (5900.00)

Ta keld B1, B2 kou B3 givon ot tipég yio 10 moosd tov daveiov, T dtdpKela
KOl TO €MTOKLO.
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To kel B4 gpoavilel 1o amotéleopo tov tomov =PMT(B3/12;B2;B1).

7. Télog, poppomomote to keM mpoopiopov (B3) éto1 dote va epeavilel 1o
ATOTEAEG O (OC TOGOCTO.

a. Xmv Kevrpun koptéra, oty oudda ApOpog, kdvie KAk oty
emioyn IococTé.

b. Kavte KAk oty emloyn AvEnon dekadikdv yneiov 1 Meimon

OEKAOIKOV YNPiov yioo vo opicete Tov opliud ToV OEKAIIKMOV

ynoeiov.

YToAOYIoH0g TOAALOTADV OTOTEAEGUATMOV HE Yprion
TIVOKO 0EO0UEVOV

"Evag mivokoag dedopévov gival pio teptoyn KEM®V 6NV onoio umopeite vo aALAEETE
TIUEG € OPOUEVO amd To KEMA Kol vo. Ppeite O10POPETIKES AMOVINCELS GE &va
npofAnua. ‘Eva kold mapddetypo evog mivakae  dedopévev  ypnolpomotel
ocuvvéptnon PMT pe dtapopetikd mocsd daveiov Kot mtOKIOL Y10t TOV VITOAOYIGUO TOV
TPOGLTOV TOGOV GE £VAL GTEYUOTIKO 0Gvel0. O TEPAUATIGUOC LLE SLUPOPETIKES TULES Y10t
TNV TOPATAPNOT TG aVTIOTOYMNG SOKOUOVONG GTO OOTEAECHATO Eval €vo. KOO
KaONKOV 6TV avdioon dedouévav.

3.Baoikd otovyelo mivako 0£00UEVOY

Anpovpynote mivakeg dedopEVmV piag 1 000 HETOPANTAOV, avaAoya e TOV oplOUd TV
HETAPANTOV KOl TV TOT®V TOV TPENEL VoL EAEYEETE.

ITivakeg ogoopuévov piog petafintig

Xpnotpomomote Evov mivaka dedopévev piag HETOPANTNG edv BEAeTe va dgite MG o1
SLPOPETIKEG TIHEG HOG LETOPANTNG G Evav 1] TEPIGGOTEPOLS TVTTOVG B aAAGEOVY TO
OTOTEAEGLLOTO QVTAV TOV TOTOV. [0 Tapdoety o, LTOPEITE VO YPTCILOTOWCETE EVOV
nivoko Ocdopévey piog UHETOPANTNC Yoo Vo OlTe TAOC TO. OPOPETIKE EMITOKLIN
emnpedlovy  p  pnvioio.  TANPOUY]  GTEYOOSTIKOL  O0VEIOL  YPNOLULOTOLDOVTOG
M ovvaptnon PMT. Ewcaydyete ti¢ Tnéc petafAntdv oe pio GTHAN 1 YPOUUN KO TOL
AmOTEAEGHOTO ELPAVICOVTOL GE [LL0L YELTOVIKT] GTNAN 1) YPOLLUY).

2y mopoakdto ewkdva, To kedl D2 mepiéyetl tov thmo minpourc, =PMT(B3/12;B4;-
BS), o onoiog avapépeton 6To KeEM €160d0v B3.
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A | B | ¢ D
1 | Mortgage Loan Analysis Payments
2 | Dovwen Payment Mone § E72E8
3 | Interest Rate — 9.50% — 9.00% F 64370
4 | Term (months) 360 (— 9.25% § BS5.14
5 | Loan Amournt $50,000 = 9.50% § 67265
Inpt cell Ligt of valuesthat Excal

subditutes in the input cell, B3.
IHivakeg 0goopuévav 000 petafintov

Xpnowonomote évav mivaka Ooedopéveov 000 petafAintdv Yo vo dgite TAS ot
SPOPETIKEG TIHEG 000 peTafAnTdv o€ £vay TOTO O AALAEOLV TOL AMOTEAEGLOTO AV TOV
Tov TOmov. [Ma Tapddetypa, UTopeite va YPMGILOTOMNGETE EVaV TivaKa dEdOUEVEVY 600
LETAPANTAOV Yo va deiTe TMG O10POPETIKOL GLVIVAGHOTL EMTOKIMV Kol Op®V doveiov Ba
EMNPEACOLY U0 UNVIoio TANPOUN OTEYAGTIKOV SavEIOV.

2V mopokdto gwkova, to keM C2 mepiéyet tov tomo niAnpoung, =PMT(B3/12;B4;-
BS)), o onoiog ypnoyomotet 600 keAd 16050V, B3 kot B4.

Ligt of valuesthat Excel subditutes

Column ingut el inthe rowe input cell, B4,
A | B | C 1] It

1 | Mortgage Loan Analysis .

2 | Dowen Paymert || Morme [$ 67268 180 360
3 | Interest Rate U 950% |[— 9.00% | $511.41 | §643.70
4 | Term (months) r J60|— 9.25% | §323.30 | F655.14
5 | Loan Amourit $E0,000 | 9.50% | $535.3538 | F672.65

R o impout cell List of waluesthat Excel substitutes

inthe column input o2, B3.

Ymoloyiopol Tivoka 0£douévev

Kd&Be @opd mov €va @OAAO epyaciog vroroyilel ek véov, ot mivakeg dedopévov Oa
vroAoyilovv emiong Eavi—oakopo Kol av dgv Exet yivel kKopio aAlayr] ota O0E00UEVA.
INo va emtoydvete Tov VTOAOYIGUO VOGS OUALOL £pyaciag mov TEPLEYEL Evay TivaKa
dedopévev, umopeite vo  0AAGEETE  TIC  EMAOYEC DTTOAOYIGHOV Y10  CLTOUOTO
EMOVOTOALOYIGLLO TOL PVAAOV £pyaciag, OAAG Ol TV TVAK®Y ded0UEVOV.

Anpuovpyio TivoKae d€00pévov piag petafintg

"Evag mivakag dedopévav piog petafAntig mepiéyet Tig Tipég 10080V tov gite og pia
OTHAN (TPOGOVOTOAICUEVOG GE OTNAEG) €lTe G oL YPOUUT (TPOGAVATOAGUEVOS OE
YPAUpES). OTOL0GONTOTE TUTOG GE £VaV TTivaka dedopUEVaV piag LETABANTNG TPEMEL vaL
avapEPETOL LOVO G Eva KEM €1G0J0V.

AxolovOnote avtd o fpaTo:
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1. ITAnktpoioynote T Aot TYH®OV TOV OEAETE VO OVTIKOTAGTNOETE GTO KEAM
EI00YMYNG—ElTE TPOG TO KAT® Kotd pio oTNAN €ite KOTA PUNKOG Mg
YPOUUNG. APNOTE PEPIKEG KEVEC YPOULES Kol OTHAEG G€ KAOE TAELPE TV
TILOV.

2. Kavte éva ond ta e&ng:

= Ed&v o mivaxoag oedouévav givorl zpooavotoriouévos e
otiieg (01 TéG TV peTaPfAnTOv cag Ppiokoviol oe o
GTNAN), TANKTPOLOYNOTE TOV TUTO GTO KEAL piol YpOLUT ETAVED
Kot éva KeM ota 6e&ld TG OTHANG TIUDV. AVTOC O TivaKog
oedopévov plag pHeTafAnTne eivol TPOGOVOTOAMGUEVOS GE
oTNAEC KOU O TOMOC mepEyetal  oto  Keil  D2.

A | B | ¢ i}
1 | Mortgage Loan Analysis Payments
2 | Dowwn Payment Mone I BV2ES
3 | Interest Rate o 9.50% [— 9.00% ¥ 64370
4 | Term (months) 360 |— 9.25% F 65314
5 | Loan Amourit F$80,000 |[— 9.50% F E7V2ES
Inpaut cell Ligt of valuesthat Excel

subaitutes in the input c2ll, B3.

Edv 0élete va eEetdoete TIg eMOPACELS SOPOPOV TIULDV GE
dAAovg TOTOVG, €loaydyete TOLG TPOGOETOLE TUTOVG GE
KeEMB ot deC1d TOL TPMOTOV TVTOV.

= Ed&v o mivakog oedopévov elvon mpooavatoiiouévos o€
ypouues (o1 THEG TV HETAPANTOV oag Ppiokoviol ce o
YPOUUN), TANKTPOAOYNOTE TOV TOTO 6TO KeEAL, pio 6THAN oTA
OPLOTEPA TNG TPMOTNG TIUNG KO VO KEM KAT® OTO TN YPOUUN
TILOV.

Edv 0élete va efetdoete I eMOPACELS SOPOPOV TILDV GE
dAAovg TOTOVG, e€loaydyete TOVG TPOGHETOLG TOMOVS OF
KEMOL KATW oo TOV TPMOTO TOTO.

3. Emié&te v meployn KeEMOV Tov TEPIEYXEL TOVS TOHTOVE KO TIG TYLES TOL

OELETE VO OVTIKOTOGTIGETE. £TO TOPATAVE® GYNLLO, AVTO TO €VPOg elvar C2:
Ds.

4. Xmv xoaptéia Agdopéva, kdvte KA oty emloyn Iivakoeg avaivong >
ogoopévev  What-If (omv ~ oudoa Epyaieio  dedopéveovn oty
opdoa Ipdépreyn tov Excel 2016).

5. Kévte éva and ta e€ng:

= Edv o mivaxog Odedopévav elvar TpocovaToMGUEVOS OF
GTNAEC, E1GAYAYETE TNV OVOPOPE KEALOV Y10l TO KEAL E1GAYWOYNG
o10 medio KeM etoaymyng 6tiing. 1o mopandve oy, To
kel e160d0v elvan B3.
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Edv o mivaxog oedouévav eivar TPOGOVATOMGUEVOS OE
YPOUUES, €160YAYETE TNV OvaQOpPd KEAOD Yo TO KeA
gloaywyng oto nedio Kel etoaymyic ypoppg.

Inpueimon: A@od ONUIOVPYNCETE TOV TIVOKa OESOUEVDV, 10MG
Belnoete va aAAGEETE TN LOPON TOV KEADV OTOTEAEGUATMV.
210 OYNUO, TO KEAWL OTOTEAEGUATOV HOPPOTOIOVVTOL MG
VOUIGUOTIKT LOVADOL.

IIpocOkn TOmOV o0& mivake dogdouévov piog

petapinTig

O1 10101 TOL YPNGYOTOOVVTUL GE £vay TivaKa dedopEvaVY piag pHetafAnTtig Tpémet va
avaeEPOVToL 6To 1010 KEAL el0ay@YNC.

AxolovOnote avtd To frpata

1. Kavte éva and ta e€ng:

Edv o mivaxog dedopévov givar mpooavatoAMoUEVos Ge
OTNAES, E10AYAYETE TOV VEO TOTO G éva KEVO KeAl ota de&ld
€VOG VTAPYOVTIOS TUTOL GTNV EMAVE YPOUUN TOL TivaKa
OedOUEVDV.

Edv o mivaxag dedopévov givar TpooavatoAoUévos o€
YPOUUEG, EICOYAYETE TOV VEO TOTTO GE £va KEVO KEM KAT® ad
évav vmapyovto. TOMO OTNV TPAOTY OTHAN TOL TivaKo
OedoUEVOV.

2. EmiéEte v meployn KEMAOV oL TEPIEXEL TOV TIVOKA OEOOUEVMV KOl TOV

VEO TUTO.

3. Xmv koptéha Agdopéva, Kavte kMK oty emaoyn Ilivekag avédivong >

ogdoopévov

What-If (ctqv =~ opdoa Epyoieioa  oedopéveovn oty

opdoa IMpdépreyn tov Excel 2016).

4. Kavte éva ond ta e&ng:

Edv o mivaxog dedopévov givar TpooavatoAoUEVos o€
GTNAEC, E1IGAYAYETE TNV OVOPOPE KEALOV Y10l TO KEAL E1GAYWOYNG
oto mAaiclo KeAi etcaymyng otiing.

Edv o mivaxog dedopévov givar TPooavatoAoUEVOS Ge
YPOUUEG, €10aYAyeTe TNV ovagopd KEAOD Yoo TO KeEM
gloaymyng oto mhaicto Kell stoayoyng ypappnc.
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Anuovpyio TivoKe 0£00UEVOV 000 NETUPANTOV

‘Evog mivakag dedopévev 0vo peTafAntodv ypnoionotel Evay TOmo mov meptEyel 000
Moteg oV €166d0v. O THmMog TPEMeL var avapEPETAL 6€ OV0 SLOPOPETIKA KEALA
€160000.

AxolovOnote avtd o fpaTo:

1. Ze éva kel oto OALO epyasiog, ELGAYAYETE TOV TOTO TOL AVAPEPETOL GTO,
dV0 KeMA £16000V.

210 MOPOKAT® TOPAOELYLO—GCTO OO0 Ol OPYIKEG TIUMES TOVL TOTOL
elodyovton  oto ke B3, B4 «ou BS5, mAnktpoAioyeite tOV
tomo =PMT(B3/12;B4;-B5) oto kehi C2.

2. IIAnktporoynote pia AloTo TILOV 16050V 6TV 1010 GTAAY, KAT® 0md TOV
TOTO.

2g oUTNV TNV TEPITTMON, TANKTPOAOYNOTE TO SLUPOPETIKA EMTOKIO GTOL
kead C3, C4 ko CS.

3. Ewaydyete ) 0e0tepn AMota otnVv 10100 YPOUUN LE TOV TOTO—GTA O&1d
™me.

[TAnktpoAioynote Tovg 6povg daveiov (og puveg) ota kehMd D2 kot E2.

4. EméEte v meproyn keMdv mov mepiéyet tov tomo (C2), 1660 ™ Ypouun
600 kot ™ otAn Tov (C3:CS ko D2:E2) kot ta keAd ot omoio OEAeTe
116 vroroytopéveg tipes (D3:ES).

e autv v mepintmon, emAéste v neproyn C2:ES.

5. Zmv kaptéla Agdopéva, oty opdda Epyareia dedopévav 1 otnv opdda
[Ip6Preyn (oto Excel 2016), wdévte Kk ommv emdoyr Avdivon
> wivako, dedopévov What-If (otnv opdoo Epyaieia dgdopévov 1 oty
ouada Mpépreyn tov Excel 2016).

6. Z10 medio Kell erloaymynig ypappns, 10ayqayete v ovaQopd 6To KeAl
EI0AYWOYNG Yo TG TIEG €10000V ot YPOLLUT.
[Tinktporoynote To kehi B4 o10 mAaicio Kell etcaywyng ypoppic.

7. Xto medio KeM swoaymyng otiing, soaydyete v ava@opd 6To KeAM
ELCAYMYNG Yo ala TIEG €16000V o OTNAAN.
[TAnktporoynote B3 oto mhaicio KeAl eicaymyng otiine.

8. Kaévte Khk 010 kovpni OK.
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IHopaderypo TivaKae 0€00UEVOY 000 NETAPANTOV

‘Evag mivaxoag oedopévov 000 petafAntov pmopel va Oeiéel g OSlapopeTikol
cuvdvoopol emtokiov kot Opmv daveiov Ba emmpedcovy o Unvioio TANPOUN
vrodNKNG. 10 oyNua 0M, To kKeAl C2 epiéyet tov THmo TAnpoung, =PMT(B3/12,B4,-
BS)], o onoiog ypnoyromotet 600 keAd 16650V, B3 kot B4.

Ligt of valuesthat Excel subditutes

Column input cell inthe rowe input cell, B4
A [ B | C 1] |8

1 | Mortgage Loan Analysis .

2 | Dowen Paymert || Mome [ 57253 180 360
3 | Interest Rate L as0% |— a00% | §511.41 | §643.70
4| Term (morths) 360 |— 9.23% | $323.33| F635.14
5 | Loan Amourt 50,000 |- 9.50% | §335.383 | §E7263

Fow input cell Lizt of valuesthat Excel subsitutes

inthe column input o2, B3.

YmoAoylopog o€ QUALO EPYUOLOS TTOV TEPLEYEL TIVUKES
0E00UEVOV

Otav opilete avtv TV €TAOYN VTOAOYIGHOD, dEV TPOYLUATOTOLOVVTOL VITOAOYIGLOL
nivoka dedopuévav dtav yivetal vEog VTTOAOYIGUOG € 0AGKAN PO TO BiAio epyaciag. [
vo vmoloyicete Eava pe U avTOUATO TPOTO TOV Tivakd dedOUEVOV, EMAEETE TOVG
TOTOLG TOL KOll, GTN GUVEYELN, TEGTE TO TANKTpO F9.

AxolovOnote avtd Ta fpata Yo vo BEATIOCETE TNV 0OO0GT VITOAOYIGHOV:
1. Kévte khk oty emroyn Emioyés > apygio > tomor.

2. Xy evomnta Emioyég vroroyiopov, oty neployn Yaoroyiopog, Kavte
KMK 0TV €TA0YN AVTORATO EKTOS 0T TOVG TIVOKES OEOOUEVOV.

Tip: [Ipoapetikd, oty xoptéra TOmor, kdvie KAk o100 PEAog otnv
emAoyn Emioyég vmoloyiopov ko, o1 GUVEXEWN, KAVTE KMK OV
emAoyn Avtépata EKTOG oo TIVOKES ogoopévov (otnv
opdoo Yroroyiopog).
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4.I1poctowpacia  mpoPréyewvy Ko
TPONYUEVOV EMYELPNUUTIKOV
HOVTELMV

Edv 0éhete va mpostoudoete mpoPAdyels, umopeite va ypnooromoste to Excel yia
VoL OMLOVPYNCETE AVTOHOTO LEAAOVTIKES TIHES TTOL Paciloviot 6e vVTapyovTa dESOUEVOL
N YW vo ONUOVPYNCETE OVTOMOTO TIWEG He Tapéktaon mov Poacilovioar o€
VTOAOYIGHOVS YPOUUIKNAG TAOTG 1 TAGNS avATTLENG.

Mmropeite vo GUUTANPOGETE O GEPE TYLOV TOV TOPLALOVY GE W0 OTTAY] YPOLLUIKT
Tdon N o€ P ekOETIKN TAGN avATTLENC, YPNOILOTOOVTOS T AaPT| Yepiopatog 1§ TV
evtoAn Xepd. o va emexteivete ouvheTo Kot un ypouuika dedopéva, pmopeite va
YPNOWLOTOWCETE  CLVOPTNOEL (QUAAOL epyacsiog 1 TOo  gpyorelo  avaivong
TaAvopounong oto tpocBeto "llakéto epyareimv avdrivong'.

[Moporo mov n avalnmon otdyov pmopel vo eriofeviost pévo pia petafintn,
umopeite va mpoParete mpog To TG® Yo TEPICCOTEPES UETAPANTES PN CLULOTOIDOVTOG
10 Tp6cBeto Emilven. Xpnowonowwviag tv Emidvon, upmopeite va Ppeite pia
BéATioT) Tun Yo évay TOmo o€ Eva KeEAI—mov ovopaletol KeM TpoopioHov—ae Eva
@OALO epyaciag.

H Enilvon Aertovpyel pe por opddo keAdv mov oyetilovrol [ tov TOTO 6To KeM
npoopicpov. H Emilvon mpooapupdlel tig tég ota petaforiiopeve KeMd mov
kaBopilete—mov ovopdalovrar puOuldpuevo KeME—ryio va Tapdyel To AmOTELEG LN TOV
kaBopilete amd TOV TOHTO KEAL0D TPoopiopoV. Mmopeite va eQapUOGETE TEPLOPIGLOVG
Yol Vo TEPLoPIcETE TIG TYWES TOL Umopel va ypnoiponomast n Enthvon oto povtédo ko
ol mePlopopol umopodv vo avapeépovtol oe dAla kKeEMA mov ennpedlovy Tov TOTO
KEALOU TTPOOPIGLOD.
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AITAIKA-ENGLISH

Introduction to What-If Analysis

By using What-If Analysis tools in Excel, you can use several different sets of values
in one or more formulas to explore all the various results.

For example, you can do What-If Analysis to build two budgets that each assumes a
certain level of revenue. Or, you can specify a result that you want a formula to produce,
and then determine what sets of values will produce that result. Excel provides several
different tools to help you perform the type of analysis that fits your needs.

Overview

What-If Analysis is the process of changing the values in cells to see how those changes
will affect the outcome of formulas on the worksheet.

Three kinds of What-If Analysis tools come with Excel: Scenarios, Goal Seek,
and Data Tables. Scenarios and Data tables take sets of input values and determine
possible results. A Data Table works with only one or two variables, but it can accept
many different values for those variables. A Scenario can have multiple variables, but
it can only accommodate up to 32 values. Goal Seek works differently from Scenarios
and Data Tables in that it takes a result and determines possible input values that
produce that result.

In addition to these three tools, you can install add-ins that help you perform What-If
Analysis, such as the Solver add-in.

1. Scenarios

Switch between various sets of values by using scenarios

A Scenario is a set of values that Excel saves and can substitute automatically on your
worksheet. You can create and save different groups of values as scenarios and then
switch between these scenarios to view the different results.

If several people have specific information that you want to use in scenarios, you can

collect the information in separate workbooks, and then merge the scenarios from the
different workbooks into one.
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After you have all the scenarios you need, you can create a scenario summary report
that incorporates information from all the scenarios.

Scenarios are managed with the Scenario Manager wizard from the What-If
Analysis group on the Data tab.

Creating scenarios

Suppose that you want to create a budget but are uncertain of your revenue. By using
scenarios, you can define different possible values for the revenue and then switch
between scenarios to perform what-if analyses.

For example, assume that your worst-case budget scenario is Gross Revenue of $50,000
and Costs of Goods Sold of $13,200, leaving $36,800 in Gross Profit. To define this set
of values as a scenario, you first enter the values in a worksheet, as shown in the
following illustration:

A B C

=

1

£ |Gross Revenue
3 | Cost of Goods Sold |

4 |Gross Profit 36,800 Result cell

Changing cells

The Changing cells have values that you type in, while the Result cell contains a
formula that is based on the Changing cells (in this illustration cell B4 has the
formula =B2-B3).

You then use the Scenario Manager dialog to save these values as a scenario. Goto
the Data tab > What-If Analysis > Scenario Manager > Add.

o i aE

What-If Forecast Group U
Analysis* Sheet v

Scenaric Manager...
Goal Seek...
Data Table...
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Scenario Manager ? et

Scenarios:

Mo Scenarios defined, Choose Add to add scenarios.

Merge...

Changing cells:

Comment:

Close

In the Scenario name dialog, name the scenario Worst Case, and specify that cells B2
and B3 are the values that change between scenarios. If you select the Changing
cells on your worksheet before adding a Scenario, the Scenario Manager will
automatically insert the cells for you, otherwise you can type them by hand, or use the
cell selection dialog to the right of the Changing cells dialog box.
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A B C D E
1
2 |Gross Revenue
3 |Costof Goods Sold
B o — - -

4 |Gross Profit 36,800
5 — I I
<}
7 | Scenario name:

| | Worst Case
8
g | Changing cells:
10 | | B2E3 | |
1 | Ctrl=click cells to select non-adjacent changing cells.
12 | Comment:

| | Worst Case Scenario
13
14
15 | Protection
16 [v] Prevent changes
17 [ ] Hide
18
19

Note: Although this example contains only two changing cells (B2 and B3), a scenario
can contain up to 32 cells.

Protection — You can also protect your scenarios, so in the Protection section check
the options that you want or uncheck them if you don't want any protection.

= Select Prevent Changes to prevent editing the scenario when the
worksheet is protected.

» Select Hidden to prevent displaying the scenario when the worksheet is
protected.

Note: These options apply only to protected worksheets.

Now suppose that your Best Case budget scenario is Gross Revenue of $150,000 and
Costs of Goods Sold of $26,000, leaving $124,000 in Gross Profit. To define this set of
values as a scenario, you create another scenario, name it Best Case, and supply
different values for cell B2 (150,000) and cell B3 (26,000). Because Gross Profit (cell
B4) is a formula - the difference between Revenue (B2) and Costs (B3) - you do not
change cell B4 for the Best Case scenario.
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1 Value
2 |Gross Revenue 50,000y
3 [Cost of Goods Sold 13,2001
4 |Gross Profit 36,800
3 . .
5 —{ Edit Scenario ? >
7 || scenario name:
a || | Best Case
g 1 Changing cells:
10 || B2E3 i
1 || Ctrl=click cells to select non-adjacent changing cells.

-1 Comment:
12 — ;

—{ | Best Case Scenario
13
14
15 || Protection
16 || [] Prevent changes
7 || [ Hide
18
ol

After you save a scenario, it becomes available in the list of scenarios that you can use
in your what-if analyses. Given the values in the preceding illustration, if you chose to
display the Best-Case scenario, the values in the worksheet would change to resemble
the following illustration:

A B
1
2 |Gross Revenue 150,000
3 |Costof Goods Sold| 26,000
4 |Gross Profit 124,000

Merging scenarios

There may be times when you have all the information in one worksheet or workbook
needed to create all the scenarios that you want to consider. However, you may want to
gather scenario information from other sources. For example, suppose you are trying to
create a company budget. You might collect scenarios from different departments, like
Sales, Payroll, Production, Marketing, and Legal, because each of these sources has
different information to use in creating the budget.

You can gather these scenarios into one worksheet by using the Merge command. Each
source can supply as many or as few changing cell values as you want. For example,
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you might want each department to supply expenditure projections, but only need
revenue projections from a few.

When you choose to merge, the Scenario Manager will load a Merge Scenario wizard,
which will list all the worksheets in the active workbook, as well as listing any other
workbooks you might have open at the time. The wizard will tell you how many
scenarios you have on each source worksheet you select.

Merge Scenarios ? >

Merge scenarios from

Choose a different workbook

ULl scenarion |4

summary

Book: | Scenario.xlsx

There are 2 scenarios on source sheet,

£ Cancel

When you collect different scenarios from various sources, you should use the same
cell structure in each of the workbooks. For example, Revenue might always go in cell
B2 and Expenditures might always go in cell B3. If you use different structures for the
scenarios from various sources, it can be difficult to merge the results.

Tip: Consider first creating a scenario yourself, and then sending your colleagues a
copy of the workbook that contains that scenario. This makes it easier to be sure that
all the scenarios are structured the same way.

Scenario summary reports

To compare several scenarios, you can create a report that summarizes them on the
same page. The report can list the scenarios side by side or present them in a PivotTable
report.
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& B C
ltem  vaue [
2 _Grc:-ss Revenue 150,000
3 |Cost of Goods Sold 26,000
4 |Gross Profit ! 124,[][][]i
2 -+ Scenaric Summary 7 pod
7 [l Report type
g || (@ Scenario summary
g ] O Scenario PivotTable report

|| Result cells:
0 || -
f || L=ses L2
12 : Cancel
13

A scenario summary report based on the preceding two example scenarios would look
something like the following:

B - [
Jz] 48 8 | c| ©

1
2l Scenario Summary

m
—
G

—
5|
Ly

S
wUTTENL W al

4 SCEenand
-] 5 Changing Cells:
-6 | $BS2 150,000 50000 150,000
| - 7] $BS3 26,000 13,200 26,000
-] 8 | ResultCells:
|- 9 $BS4 124,000 36800 124,000

10 | Notes: Current Values column represents values of changing cells at
1 time Scenario Summary Report was created. Changing cells for each
12 | scenario are highlighted in gray.

You’ll notice that Excel has automatically added Grouping levels for you, which will
expand and collapse the view as you click the different selectors.

A note appears at the end of the summary report explaining that the Current
Values column represents the values of changing cells at the time the Scenario
Summary Report was created, and that the cells that changed for each scenario are
highlighted in gray.
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Notes:

= By default, the summary report uses cell references to identify the
Changing cells and Result cells. If you create named ranges for the cells
before you run the summary report, the report will contain the names
instead of cell references.

= Scenario reports do not automatically recalculate. If you change the values
of a scenario, those changes will not show up in an existing summary report
but will show up if you create a new summary report.

*= You don't need result cells to generate a scenario summary report, but you
do need them for a scenario PivotTable report.

Scenario Summary

Current Valuss:

Changing Cells:

Gross_Revenue poumms : e g 000
Mamed Ranges instead of cell references

Cost_of_Goods_Sold S, . (00

Result Cells:
Gross_Profit 124,000 36,800 124,000
A B

1 |$B$2:$BE3 by (Al -

2

3 |Row Labels ~ Gross Profit

4 |Best Case 124000

5 |Worst Case 36800

2.Goal Seek

If you know the result that you want from a formula but are not sure what input value
the formula needs to get that result, use the Goal Seek feature. For example, suppose
that you need to borrow some money. You know how much money you want, how long
you want to take to pay off the loan, and how much you can afford to pay each month.
You can use Goal Seek to determine what interest rate you will need to secure to meet
your loan goal.

If you know the result that you want from a formula but are not sure what input value
the formula needs to get that result, use the Goal Seek feature. For example, suppose
that you need to borrow some money. You know how much money you want, how long
you want to take to pay off the loan, and how much you can afford to pay each month.
You can use Goal Seek to determine what interest rate you will need to secure in order
to meet your loan goal.
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Note: Goal Seek works only with one variable input value. If you want to accept more
than one input value; for example, both the loan amount and the monthly payment
amount for a loan, you use the Solver add-in.

Step-by-step with an example

Let's look at the preceding example, step-by-step.

Because you want to calculate the loan interest rate needed to meet your goal, you use
the PMT function. The PMT function calculates a monthly payment amount. In this
example, the monthly payment amount is the goal that you seek.

Prepare the worksheet.

1. Open a new, blank worksheet.
2. First, add some labels in the first column to make it easier to read the

worksheet.
a. Incell Al, type Loan Amount.
b. Incell A2, type Term in Months.
c. Incell A3, type Interest Rate.

d. Incell A4, type Payment.
3. Next, add the values that you know.

a.
b.

In cell B1, type 100000. This is the amount that you want to borrow.
In cell B2, type 180. This is the number of months that you want to
pay off the loan.

Note: Although you know the payment amount that you want, you
do not enter it as a value, because the payment amount is a result of
the formula. Instead, you add the formula to the worksheet and
specify the payment value at a later step, when you use Goal Seek.

4. Next, add the formula for which you have a goal. For the example, use the
PMT function:

a.

In cell B4, type =PMT(B3/12,B2,B1). This formula calculates the
payment amount. In this example, you want to pay $900 each
month. You don't enter that amount here, because you want to use
Goal Seek to determine the interest rate, and Goal Seek requires that
you start with a formula.

The formula refers to cells B1 and B2, which contain values that
you specified in preceding steps. The formula also refers to cell B3,
which is where you will specify that Goal Seek put the interest rate.
The formula divides the value in B3 by 12 because you specified a
monthly payment, and the PMT function assumes an annual interest
rate.
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Because there is no value in cell B3, Excel assumes a 0% interest
rate and, using the values in the example, returns a payment of
$555.56. You can ignore that value for now.

Use Goal Seek to determine the interest rate

1. On the Data tab, in the Data Tools group, click What-If Analysis, and
then click Goal Seek.

2. In the Set cell box, enter the reference for the cell that contains the formula
that you want to resolve. In the example, this reference is cell B4.

3. Inthe To value box, type the formula result that you want. In the example,
this is -900. Note that this number is negative because it represents a
payment.

4. In the By changing cell box, enter the reference for the cell that contains
the value that you want to adjust. In the example, this reference is cell B3.

Note: The cell that Goal Seek changes must be referenced by the formula
in the cell that you specified in the Set cell box.
5. Click OK.

Goal Seek runs and produces a result, as shown in the following

illustration.
A B
1 |Loan Amount $100,00
2 Termin Months 180
3 |Interest Rate 7.02%
4 |Payment (5900.00)

Cells B1, B2, and B3 are the values for the loan amount, term length, and
interest rate.

Cell B4 displays the result of the formula =PMT(B3/12,B2,B1).

6. Finally, format the target cell (B3) so that it displays the result as a
percentage.
a. On the Home tab, in the Number group, click Percentage.
b. Click Increase Decimal or Decrease Decimal to set the number of
decimal places.
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3.Calculate multiple results by using a data
table

A data table is a range of cells in which you can change values in some of the cells and
come up with different answers to a problem. A good example of a data table employs
the PMT function with different loan amounts and interest rates to calculate the
affordable amount on a home mortgage loan. Experimenting with different values to
observe the corresponding variation in results is a common task in data analysis.

Data table basics

Create either one-variable or two-variable data tables, depending on the number of
variables and formulas that you need to test.

One-variable data tables

Use a one-variable data table if you want to see how different values of one variable in
one or more formulas will change the results of those formulas. For example, you can
use a one-variable data table to see how different interest rates affect a monthly
mortgage payment by using the PMT function. You enter the variable values in one
column or row, and the outcomes are displayed in an adjacent column or row.

In the following illustration, cell D2 contains the payment formula, =PMT(B3/12,B4,-
BS), which refers to the input cell B3.

A | B | ¢ D
1 | Mortgage Loan Analysis Payments
2 | Dovwen Payment Mone § E72E8
3 | Interest Rate — 9.50% — 9.00% F 64370
4 | Term (months) 360 (— 9.25% § BS5.14
5 | Loan Amournt $50,000 = 9.50% § 67265
Inpt cell Ligt of valuesthat Excal

subditutes in the input cell, B3.

Two-variable data tables

Use a two-variable data table to see how different values of two variables in one formula
will change the results of that formula. For example, you can use a two-variable data
table to see how different combinations of interest rates and loan terms will affect a
monthly mortgage payment.

In the following illustration, cell C2 contains the payment formula, =PMT(B3/12,B4,-
BS), which uses two input cells, B3 and B4.
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Ligt of valuesthat Excel subditutes

Column input cell inthe rowe input cell, B4,
A [ B | < 1] |§

1 | Mortgage Loan Analysis .

2 | Dowen Paymert || Mome [ 67263 180 360
3 | Irterest Rate L 950% |— 900% | $511.4 | §643.70
4| Term (months) 360 |— 9.23% | $323.33| F635.14
% | Loan Amount $30,000 = 9.50% | F335.3533 | FE672.63

R oy impaut cell LList of valuesthat Excel subditutes

inthe column input c2ll, B3,

Data table calculations

Whenever a worksheet recalculates, any data tables will also recalculate—even if there
has been no change to the data. To speed up calculation of a worksheet that contains a
data table, you can change the Calculation options to automatically recalculate the
worksheet but not the data tables. To learn more, see the section Speed up calculation
in a worksheet that contains data tables.

Create a one-variable data table

A one-variable data table contain its input values either in a single column (column-
oriented), or across a row (row-oriented). Any formula in a one-variable data table must
refer to only one input cell.

Follow these steps:

1. Type the list of values that you want to substitute in the input cell—either
down one column or across one row. Leave a few empty rows and columns
on either side of the values.

2. Do one of the following:

= Ifthe data table is column-oriented (your variable values are in
a column), type the formula in the cell one row above and one
cell to the right of the column of values. This one-variable data
table is column-oriented, and the formula is contained in cell

D2.
A | B | c D
1 | Mortgage Loan Analysis Payments
2 | Doven Paymert Mone ¥ EV2ES
3 |Interest Rate + 9.50% — 9.00% F B43.70
4 | Term (monthz) 360 |— 9.25% ¥ B55.14
5 | Loan Amaount F50,000 = 9.50% F 67265
Inpoutt cell List of valuesthat Excel

subaitutes in the input ce2ll, B3.
If you want to examine the effects of various values on other

formulas, enter the additional formulas in cells to the right of
the first formula.
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If the data table is row-oriented (your variable values are in a
row), type the formula in the cell one column to the left of the
first value and one cell below the row of values.

If you want to examine the effects of various values on other
formulas, enter the additional formulas in cells below the first
formula.

3. Select the range of cells that contains the formulas and values that you want
to substitute. In the figure above, this range is C2:D5.

4. On the Data tab, click What-If Analysis > Data Table (in the Data
Tools group or Forecast group of Excel 2016).

5. Do one of the following:

If the data table is column-oriented, enter the cell reference for
the input cell in the Column input cell field. In the figure
above, the input cell is B3.

If the data table is row-oriented, enter the cell reference for the
input cell in the Row input cell field.

Note: After you create your data table, you might want to
change the format of the result cells. In the figure, the result
cells are formatted as currency.

Add a formula to a one-variable data table

Formulas that are used in a one-variable data table must refer to the same input cell.

Follow these steps

1. Do either of these:

If the data table is column-oriented, enter the new formula in a
blank cell to the right of an existing formula in the top row of
the data table.

If the data table is row-oriented, enter the new formula in a
empty cell below an existing formula in the first column of the
data table.

2. Select the range of cells that contains the data table and the new formula.

3. On the Data tab, click What-If Analysis > Data Table (in the Data
Tools group or Forecast group of Excel 2016).

4. Do either of the following:

If the data table is column-oriented, enter the cell reference for
the input cell in the Column input cell box.
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= Ifthe data table is row-oriented, enter the cell reference for the
input cell in the Row input cell box.

Create a two-variable data table

A two-variable data table uses a formula that contains two lists of input values. The
formula must refer to two different input cells.

Follow these steps:

1.

In a cell on the worksheet, enter the formula that refers to the two input
cells.

In the following example—in which the formula starting values are entered
in cells B3, B4, and B5, you type the formula =PMT(B3/12,B4,-B5) in cell
C2.

Type one list of input values in the same column, below the formula.
In this case, type the different interest rates in cells C3, C4, and CS5.
Enter the second list in the same row as the formula—to its right.
Type the loan terms (in months) in cells D2 and E2.

Select the range of cells that contains the formula (C2), both the row and
column of values (C3:C5 and D2:E2), and the cells in which you want the
calculated values (D3:ES).

In this case, select the range C2:ES.

On the Data tab, in the Data Tools group or Forecast group (in Excel
2016), click What-If Analysis > Data Table (in the Data Tools group
or Forecast group of Excel 2016).

In the Row input cell field, enter the reference to the input cell for the input
values in the row.

Type cell B4 in the Row input cell box.

In the Column input cell field, enter the reference to the input cell for the
input values in the column.

Type B3 in the Column input cell box.
Click OK.
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Example of a two-variable data table

A two-variable data table can show how different combinations of interest rates and
loan terms will affect a monthly mortgage payment. In the figure here, cell C2 contains
the payment formula, =PMT(B3/12,B4,-B5), which uses two input cells, B3 and B4.

Ligt of valuesthat Exoel substitutes

Column input cell inthe rowe input cell, B4.
A [ B | C 1] |§

1 | Mortgage Loan Analysis ]

? | Dowen Paymert | More |§ 67265 " 180 360
3 | Irterest Rate L 950% [— 900% | %511.41| §643.70
4 | Term (monthz) — 360 — 9.25% | $323.33 | ¥655.14
5 | Loan Amournt 30,000 = 9.50% | $335.53 | F672.63

R oy it cell List of valuesthat Excel subditutes

inthe column input c2ll, B3,

Calculation on a worksheet that contains data tables

When you set this calculation option, no data-table calculations occur when a
recalculation is done on the entire workbook. To manually recalculate your data table,
select its formulas and then press F9.

Follow these steps to improve calculation performance:
1. Click File > Options > Formulas.

2. In the Calculation options section, under Calculate, click Automatic
except for data tables.

Tip: Optionally, on the Formulas tab, click the arrow on Calculation
Options, then click Automatic Except Dat

4.Prepare forecasts and advanced business
models

If you want to prepare forecasts, you can use Excel to automatically generate future
values that are based on existing data, or to automatically generate extrapolated values
that are based on linear trend or growth trend calculations.

You can fill in a series of values that fit a simple linear trend or an exponential growth
trend by using the fill handle or the Series command. To extend complex and nonlinear
data, you can use worksheet functions or the regression analysis tool in the Analysis
ToolPak Add-in.
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Although Goal Seek can accommodate only one variable, you can project backward for
more variables by using the Solver add-in. By using Solver, you can find an optimal
value for a formula in one cell—called the target cell—on a worksheet.

Solver works with a group of cells that are related to the formula in the target cell.
Solver adjusts the values in the changing cells that you specify—called the adjustable
cells—to produce the result that you specify from the target cell formula. You can apply
constraints to restrict the values that Solver can use in the model, and the constraints
can refer to other cells that affect the target cell formula.
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